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SS6G1 The student will locate selected features of Latin America and the Caribbean. 
a. Locate on a world and regional political-physical map: Amazon River, Caribbean Sea, Gulf of Mexico, Pacific Ocean, Panama Canal, Andes Mountains, Sierra Madre Mountains, and Atacama Desert. 

Use the following map of South America to answer question number ___:

[image: image2.jpg]



Which letter BEST represents the approximate location of the Amazon River?

A     A
B     B
C     C
D     D
(Correct answer A)

Use the following map of South America to answer question number ___:
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 Letter D on the map BEST identifies which physical feature?

A Atlantic Ocean

B Pacific Ocean
C Caribbean Sea
D Mediterranean Sea

(Correct answer B)
Use the following map of South America to answer question number ___:
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The arrow on this map is pointing to the location of which land feature?

A Sierra Madre mountains
B Atacama Desert
C Amazon River
D Panama Canal
(correct answer D)
SS6G1 The student will locate selected features of Latin America and the Caribbean. 
b. Locate on a world and regional political-physical map the countries of Bolivia, Brazil, Colombia, Cuba, Haiti, Mexico, Panama, and Venezuela. 

Use the following map of South America to answer question number ___:

[image: image5.jpg]



Which letter on the map represents Colombia?
A     A
B     B

C     C

D     D

(Correct answer D)
Use the following map of South America to answer question number ___:
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Letter A on the map identifies which country?

A     Peru

B     Columbia

C     Brazil

D     Chile

(Correct answer C)

Use the following map of South America to answer question _______:
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Which letter is paired with the correct country?

A Chile

B Bolivia 
C Venezuela

D Argentina

(Correct Answer B)
Use the following map of South America to answer question #__:


[image: image8.emf]North

X


The X on the map above identifies which country?

A Brazil
B Bolivia
C Colombia
D Venezuela
(Correct answer B)

Use the following map of South America to answer question #__:
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The X on the map above identifies which country?

A Brazil
B Bolivia
C Colombia
D Venezuela
(correct answer D)

SS6G2 The student will discuss environmental issues in Latin America. 
a. Explain the major environmental concerns of Latin America regarding the issues of air pollution in Mexico City, Mexico, the destruction of the rain forest in Brazil, and oil-related pollution in Venezuela.  

Which is a major environmental concern facing Mexico City?

A Air Pollution 

B Oil related pollution

C Destruction of the rainforest  

D Extraction of natural resources
(Correct answer A)
Which is MOST LIKELY to be a consequence of oil pollution in Venezuela?

A   GDP in South America increases
B   Other productive resources are put in danger
C   Venezuela will not want to sell oil to the world   

D   More people move to Venezuela to correct the problem
(Correct answer B)
Which is the BIGGEST environmental concern facing Brazil?

A Air Pollution 

B Oil related pollution

C Destruction of the rainforest  

D Extraction of natural resources
 (Correct answer C)

SS6G3 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Latin America and the Caribbean. 
a. Compare how the location, climate, and natural resources of Mexico and Venezuela affect where people live and how they trade. 

How does location of resources affect where people live in Mexico?

A The most populated cities are in deserts.

B The most populated cities are near water sources.

C Resources are spread evenly through the country and so is the population.

D All the resources in the country are on the coast and that's where people live.
(Correct answer B)
Why do most people in Mexico live in the southern area of the country?

A The valleys along Mexico’s southern coastal areas have better climates. 

B The northern part of Mexico has no food or water supply.

C The coasts of Mexico are hit with far too many hurricanes.

D The Mexican people have moved south to avoid conflict with the United States.

(Correct answer A)

Which important resource does Venezuela have an abundance of, which it uses to trade with other countries?
A machines
B petroleum
C fresh water
D skilled workers
(correct answer B)
SS6G3 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Latin America and the Caribbean. 
b. Compare how the location, climate, and natural resources of Brazil and Cuba affect where people live and how they trade. 

Use the following map of Brazil to answer question #____:
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Based on the map, which statement is MOST LIKELY correct concerning where people live in Brazil?

A   More people live in northwestern Brazil because there is more room.

B   Most of the population in Brazil lives in the northern part because it borders the ocean.
C   The people who live on the border of Peru and Bolivia have the most diverse resources.

D   More people live in eastern and southern Brazil because more resources are found there.

(Correct answer D)
SS6G4 The student will describe the cultural characteristics of people who live in Latin America and the Caribbean. 
a. Describe the results of blending of ethnic groups in Latin America and the Caribbean. 

How has the blending of ethnic groups affected Latin America?

A A unique mixture of races has slowly formed a new identity for the area. 

B Racial tensions in the area are consistently causing violent civil wars in the area.

C The countries in the area are in a constant struggle to come up with their unique role.

D The mestizos provide a unique link between the native people and the continuing European migration.

(correct answer A)
The modern-day religions, languages, and cultural aspects of Latin America result from
A having no outside influence on the Aztec and Mayan cultures.
B blending European, African, and Indigenous cultures over time.

C Europeans completely replacing the original culture with their own.

D only having primarily Spanish influences for most of their existence.

 (correct answer B)

SS6G4 The student will describe the cultural characteristics of people who live in Latin America and the Caribbean. 
b. Explain why Latin America is a region based on the languages of Portuguese and Spanish. 

Why is Latin America a region based on the languages of Portuguese and Spanish?

A The Portuguese and Spanish colonized much of the region, passing their language to the people.
B Indigenous Americans embraced the Portuguese and Spanish cultures after they first made contact.
C The Indigenous tribes have always spoke Portuguese and Spanish and the language is a large part of their culture.

D The natives of Latin America had no formal language when the Portuguese and Spanish arrived and could not communicate.
(Correct answer A)
Why is Latin America a region based on the languages of Portuguese and Spanish?

A In the past, the countries in the area had a voluntary movement towards European culture.

B The area wanted to share one language and adopted these two languages for communication.

C When the Portuguese and Spanish arrived the Latin Americans had no spoken language and they were taught the Portuguese and Spanish language.

D The Portuguese and the Spanish colonized the area and passed on their languages.

(correct answer D)

SS6G4 The student will describe the cultural characteristics of people who live in Latin America and the Caribbean. 
c. Evaluate how the literacy rate affects the standard of living. 

What is the usual relationship between a country’s standard of living and the literacy rate of that country?

A The higher the standard of living, the lower the literacy rate.

B There is no relationship between these two items.

C The lower the literacy rate, the lower the standard of living.

D If there is a low population, there will be a low literacy rate.

(correct answer C)
Which would be the best indication that Brazil’s standard of living was improving?

A higher literacy rates
B increased population
C less international trade
D saving of the rainforest
(correct answer A)
SS6G5 The student will locate selected features of Canada. 
a. Locate on a world and regional political-physical map: the St. Lawrence River, Hudson Bay, Atlantic Ocean, Pacific Ocean, the Great Lakes, Canadian Shield, and Rocky Mountains. 

Use the map of Canada below to answer question number ___:
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Which letter corresponds to the correct body of water?

A Indian Ocean

B Pacific Ocean

C Hudson Bay 

D St. Lawrence River 

(correct answer C)

Use the following map to answer question #___:
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Which letter marks the correct location of the Pacific Ocean?
A A
B B
C C
D D
(correct answer D)

Use the following map to answer question #___:
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Which letter marks the correct location of the Atlantic Ocean?

A A
B B
C C
D D
(correct answer B)
Use the following map of Canada to answer question#____:
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The shaded region on the map above shows the location of which physical feature?
A the Canadian Shield
B the Rocky Mountains
C the Hudson Bay River Basin
D the St. Lawrence River flood plain
(correct answer A)

Use the following map to answer question #___
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The dark arrow on the map is pointing to which physical feature?
A Hudson Bay
B Pacific Ocean
C St. Lawrence River
D Great Lakes Tributary
(correct answer C)

SS6G6 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Canada. 
a. Describe how Canada’s location, climate, and natural resources have affected where people live. 

Why is the majority of the Canadian population in the southern part of the country?

A   Canadians prefer to stay close to the American border.

B   The environment in the northern part of the country is cold and harsh.
C   The terrain in the north is impossible to travel over.

D   The people have not migrated north.

(Correct answer B)
How are the northernmost parts of Canada and the desert environments of Australia similar?

A Both produce the most resources for the countries.

B Neither area has a large human population.

C The location of each country’s capital is found in these areas.

D Other countries have colonies in these locations that prevent development.

(correct answer B)

Use the following population density map of Canada to answer question #___:
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If you wanted to open several restaurants in Canada, what should you do, according to this map, in order to be successful?
A build the restaurants mainly around Hudson Bay
B put one restaurant in each of the four corners of the country
C put the restaurants mainly in the southern part of the country
D build restaurants in the northern part of the country to encourage people to move there
(correct answer C)

SS6G6 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Canada. 
b. Describe how Canada’s location, climate, and natural resources impact trade. 

How do the coniferous forests along Canada’s pacific coast affect trade?

A The trees allow Canada to be a major exporter of lumber and pulp to countries such as the United States and Japan.
B The forests block waterways in that area preventing the movement of other natural resources.

C Canada has protected the forests and they cannot be used for trade.

D They allow Canada to build wooden boats for carry exports.

(correct answer A)
What impact does Canada’s location have on its ability to export goods?

A Location does not have an impact on any country’s ability to export goods.
B Canada can easily export goods via road, air, or waterways because of its location.
C Canada has little to no access to viable waterways so all goods must be shipped on roads.
D Exports are easier from the west coast because that is where most of the population lives.
(correct answer B)
Use the following map of Canada to answer question #___:
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Based on the map above, which conclusion is MOST LIKELY true?
A Canada probably imports more wood than it exports.
B Canada has many citizens employed by the lumber and timber industry.
C Evergreen forests are difficult to find in Canada, therefore they are not important.
D The evergreen forests near the coasts are more important than the ones in the center of the country.
(correct answer B)
SS6G7 The student will discuss environmental issues in Canada. 
a. Explain the major environmental concerns of Canada regarding acid rain and pollution of the Great Lakes, the extraction and use of natural resources on the Canadian Shield, and timber resources. 

The eastern portions of Canada do not have elements such as lime that break down acids found in acid rain.  Why is acid rain a major environmental concern for Canada?
A It is rapidly deteriorating the Canadian Shield.
B There is not enough of it to clean the Great Lakes.

C Canada cannot grow any crops because of their acidic soil.
D It hurts the water ecosystem of the Great Lakes.

(correct answer D)
Use the following chart of timber production in Canada to answer question #____
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Based on the chart above, why is it important for Canada to protect and maintain their forests and timber industry?

A Since they export more timber than consume, forests are vital to the economy.
B According to the chart, Canadians consume about half the timber they produce. 
C Since timber is a non-renewable resource, eventually Canada will run out of forests.
D The amount of timber being produced is decreasing over time, meaning forests are smaller.
(correct answer A)
Use the following press release to answer question #___:

	     The Government of Canada will provide funding of $25 million over five years…to help develop new ways of exploring for deep mineral deposits.  The Government of Canada recognizes that modern geoscientific information can help support the search for undiscovered natural resources.  We are committed to fostering economic growth throughout Canada, improving our global competitiveness and helping create local employment in mineral-based communities.

-Natural Resources Canada, 2011


The government in Canada is interested in extracting mineral deposits mainly because they think it has what kind of impact on Canada?
A economic
B political
C religious
D historical
(correct answer A)
SS6CG1 The student will compare and contrast various forms of government. 
a. Describe the ways government systems distribute power: unitary, confederation, and federal. 

In which form of government does the central government hold the MOST power?

A   confederation

B   federal
C   democracy
D   unitary

(Correct answer D)
In Haiti, the central government dictates powers to the other divisions without the need for Constitutional Consent.  Which type of government would Haiti be classified as?

A unitary

B confederation

C federal

D monarchy

(correct answer A)
SS6CG1 The student will compare and contrast various forms of government. 
b. Explain how governments determine citizen participation: autocratic, oligarchic, and democratic. 

In which form of government is power controlled by a select few individuals, rather than the citizens?

A   Autocracy
B   Oligarchy
C   Monarchy

D   Democracy

(Correct answer B)
Canadian citizens participate in the government in many ways, including elections, running for office, and contributing money to campaigns.  Based on this description, which type of government does Canada have?

A oligarchy
B autocracy
C democracy
D presidency
(correct answer C)
SS6CG1 The student will compare and contrast various forms of government. 
c. Describe the two predominate forms of democratic governments: parliamentary and presidential. 

Canada’s legislature is composed of the House of Commons and the Senate.  Popular vote of citizens is used to elect people to the House of Commons.  The House of Commons votes on a person to become Prime Minister.  Based on this description, which term BEST describes Canada’s government?
A Oligarchy

B Presidential

C Dictatorship

D Parliamentary

(correct answer D)

SS6CG2 The student will explain the structures of national governments in Latin America and the Caribbean. 
a. Compare the federal-republican systems of the Federative Republic of Brazil (Brazil) and the United Mexican States (Mexico) to the dictatorship of the Republic of Cuba (Cuba), distinguishing the form of leadership and the role of the citizen in terms of voting and personal freedoms. 

How does the federal-republican system of Brazil compare to the dictatorship of Cuba?

A Brazil’s leader is elected by a parliament and Cuba holds no elections at all.

B Cuba has no executive branch and Brazil has a very strong executive branch that holds all the power.
C Brazil’s leaders are generally elected by a pure popular vote while Cuba’s people have no real voting power 

D Brazil’s legislature holds far less power than Cuba’s legislature because Cuba’s legislature is appointed by a king.
(correct answer C)
SS6CG3 The student will explain the structure of the national government of Canada. 
a. Describe the structure of the Canadian government as a constitutional monarchy, a parliamentary democracy, and a federation, distinguishing the role of the citizen in terms of voting and personal freedoms. 

What is the structure of the executive branch under Canada’s Constitutional Monarchy?

A The monarchy holds most of the power and the power is past on to the oldest heir of the king or queen.

B The Prime Minister is simply a figure head and holds very little power within the country’s government.
C There is no longer any royalty within Canada and it has been completely replaced by a democratically elected government.

D The Queen is the head of state and the Prime Minister is the head of government and the prime minister holds most of the power.

(correct answer D)
Canada has a king or queen and an elected legislature with a prime minister. Which term describes this kind of government?

A autocratic dictatorship
B presidential monarchy
C constitutional monarchy
D communistic confederacy
(correct answer C)

Canada’s government can be considered ____ because the prime minister is elected by the legislature and a ____ because the citizens participate in elections and have many personal freedoms.  Which words should go in the blanks, in order?
A presidential, autocratic
B parliamentary, democracy
C constitutional, monarchy
D traditional, constitutional
(correct answer B)

Canada’s constitutional monarchy and parliamentary democracy is most similar to which country’s government?

A Cuba
B Mexico
C England
D Germany
(correct answer C)
SS6E1 The student will analyze different economic systems. 
a. Compare how traditional, command, and market, economies answer the economic questions of 1-what to produce, 2-how to produce, and 3-for whom to produce. 

Sam lives in a country where the government tells him where to work, how much he will get paid, and how many goods and services he can buy with his paycheck.  Based SOLELY on this description, what type of economic system does Sam live in?
A market

B command

C traditional

D democracy

(correct answer B)

SS6E1 The student will analyze different economic systems. 
b. Explain how most countries have a mixed economy located on a continuum between pure market and pure command. 

You hear another student say:   “Countries have to choose what kind of economy they want.  They either have to be a command economy or a market economy, depending on how they want to divide their resources.”  Why is this student incorrect?

A Most countries exist as a mix between command and market.

B Command and market economies are actually the same thing.

C No country would ever choose to be a command or a market economy.

D Economies are chosen naturally for countries, it is the type of government they must decide.

(correct answer A)

Use the following picture to answer question #____:
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In this continuum of economic systems, which word should replace the question mark?

A traditional
B democracy
C autocracy
D command
(correct answer D)
SS6E1 The student will analyze different economic systems. 
c. Compare and contrast the basic types of economic systems found in Canada, Cuba, and Brazil. 

According to the Heritage Foundation, Canada is the 6th most free economy in the world with few government restrictions.  Based on this fact, Canada MOST LIKELY has which type of economic system?

A completely command system
B completely oligarchic system
C mixed, but more command than market
D mixed, but more market than command
(correct answer D)
In Canada, the basic economic questions are decided largely by buyers and sellers in markets.  How is this different than Cuba?

A Cuba does not have to answer the basic economic questions.

B Tradition determines how the questions are answered in Cuba.

C In Cuba, all economic questions are answered by market interaction.

D The government of Cuba makes a majority of the economic decisions.

 (correct answer D)

Use the following passage about Brazil’s economy to answer question #___:

	“…the state’s role in the economy has been heavy and even increasing… the efficiency and overall quality of government services remain poor despite high government spending as a percentage of GDP.   Barriers to entrepreneurial activity include burdensome taxes and inefficient regulation.”

·  The Heritage Foundation, 2011


Based on the reading above, Brazil’s economy is showing several signs of which economic system?

A market
B command
C democracy
D traditional
(correct answer B)
SS6E2 The student will give examples of how voluntary trade benefits buyers and sellers in Latin America and the Caribbean and Canada. 
a. Explain how specialization encourages trade between countries. 

How does specialization encourage trade between two countries?

A Specialization produces such an abundance of one product that the country is forced to trade it.

B Specialization creates a diversity of products in one country and very few products in others.

C Specialization utilizes different natural resources that are shared between multiple countries.

D Specialization allows for countries to master one product and sell it to other countries that may need it. 

(correct answer D)

In which good does Canada specialize so that it can trade with other countries?

A oil

B labor

C timber

D peanuts

(correct answer C)
SS6E2 The student will give examples of how voluntary trade benefits buyers and sellers in Latin America and the Caribbean and Canada. 
b. Compare and contrast different types of trade barriers, such as tariffs, quotas, and embargos. 

Why would one country place an embargo another?

A Political differences 

B Lack of natural resources

C Lack of transportation

D Distance

(correct answer A)

Which term refers to a tax placed on imports?

A tariffs
B quotas
C subsidies
D embargoes
(correct answer A)

Which is a benefit of a tariff that other trade barriers do NOT have?

A other countries enjoy paying tariffs
B the government collects more tax revenue
C trade is completely banished under a tariff
D countries with tariffs tend to trade more often
(correct answer B)
SS6E2 The student will give examples of how voluntary trade benefits buyers and sellers in Latin America and the Caribbean and Canada. 
c. Explain the functions of the North American Free Trade Agreement (NAFTA). 

Why would Canada support NAFTA?
A It allows Canada to deny Quebec their independence.
B It allows them to export more lumber to the US and Mexico.
C It prevents Mexico from buying lumber from the United States.
D It places an embargo on anyone competing with Canadian lumber.
(correct answer B)

What is the primary purpose of the North American Free Trade Agreement?
A enforce strict trade barriers between Mexico, Canada, and the United States.

B increase trade between Europe, Australia, and North America.

C create one currency that can be used anywhere in North America.

D reduce trade barriers between Mexico, Canada, and the United States.

(correct answer D)

Which is a consequence of the North American Free Trade Agreement for Mexico?

A Canada and the U.S.  can reject all Mexican goods
B Mexico can export more goods to Canada and the U.S.
C Mexican currency is now accepted in Canada and the U.S.
D Canadian exports to Mexico are banned by trade embargoes.
(correct answer B)
SS6E2 The student will give examples of how voluntary trade benefits buyers and sellers in Latin America and the Caribbean and Canada. 
d. Explain why international trade requires a system for exchanging currencies between nations. 

The Canadian currency is the Canadian Dollar, which is different than the dollar used in the United States.  If Canada wishes to buy goods from the United States, what must first happen?

A Canada must exchange their Canadian dollars for U.S. dollars.
B Nothing, since both are dollars, the transaction can go through.
C Canada must get approval from the U.S. government for the purchase.
D The two countries exchange goods without currencies because of NAFTA.
(correct answer A)
Since nations in Latin America and Europe use different currencies, what is necessary for them to be able to trade?
A maps, so they can find each other

B computers, because all trade is done electronically
C a way to calculate how much goods are worth in each nation’s currency

D U.S. dollars, because that is the only currency other countries will accept

(correct answer C)

An exchange rate is the price of one country’s currency in terms of another.  For example, 1 US Dollar is equal to about 13 Mexican Pesos.  This information is MOST useful for

A measuring GDP.
B international trade.
C calculating literacy rates.
D determining type of government.
(correct answer B)

SS6E3 The student will describe factors that influence economic growth and examine their presence or absence in Latin America. 
a. Explain the relationship between investment in human capital (education and training) and gross domestic product (GDP). 

Use the following quote to answer question #___:

	“The countries of Latin America and the Caribbean have invested strongly in education over the past decades, and our societies and economies are benefiting today from this investment. Enrolment has increased spectacularly in primary and secondary education.”

·  Marcio Barbarosa, United Nations, 2009


What is a likely consequence of the actions taken in the quote above?

A an increase in unemployment

B more machinery will be available for use

C a decrease in productivity

D an eventual increase in GDP

(correct answer D)

SS6E3 The student will describe factors that influence economic growth and examine their presence or absence in Latin America. 
b. Explain the relationship between investment in capital (factories, machinery, and technology) and gross domestic product (GDP). 

Which action will MOST LIKELY increase Gross Domestic Product for Latin America?

A Investing money in better machinery and technology.

B Returning to harvesting methods used when the Incas and Aztecs were prosperous.
C Only trading with North America.

D Spending less money on education and training.

(correct answer A)

SS6E3 The student will describe factors that influence economic growth and examine their presence or absence in Latin America. 
c. Describe the role of natural resources in a country’s economy. 

Use the following map of South America to answer question #___:
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Which statement about natural resources is supported by the map above?

A You only find natural resources on the coast.

B Natural resources are not important to Latin America.

C Only Brazil relies on natural resources to help their economy.

D Natural resources are a part of almost every country’s economy.

(correct answer D)

SS6E3 The student will describe factors that influence economic growth and examine their presence or absence in Latin America. 
d. Describe the role of entrepreneurship. 

The ability of Latin American inventors to use resources and take risks developing new goods and services BEST relates to which concept?
A capital

B entrepreneurship

C exchange rates

D literacy rates

(correct answer B)

SS6E4. The student will explain personal money management choices in terms of income, spending, credit, saving, and investing.
Shauna wants to take a vacation next year that will cost more than her monthly paycheck.  What is the BEST way achieve her goal of taking the trip so she stays out of debt?

A Begin saving a little bit each month starting immediately.

B Use credit cards and pay them back over a period of time.

C Quit her job and look for a better job that pays more.

D Stop buying essential items until after the trip.
(correct answer A)

Which BEST describes the practice of investing?

A using credit cards to make purchases
B spending more money than a person makes
C setting some income aside to buy things like stocks and bonds
D opening up a savings account in a bank that pays simple interest
(correct answer C)

What are the general choices a person has when they earn an income?

A spend it or save it
B get credit with it or return it
C put it in a bank or give it away
D buy something or sell something
(correct answer A)

Setting money aside for future use describes which term?

A credit
B saving
C income
D spending
(correct answer B)

Which term is used to describe what a person earns when they perform a service or provide a good for another?

A income
B saving
C spending
D investing
(correct answer A)

When a person is borrowing money to make a purchase they can’t currently afford, they are asking for which term?

A credit
B saving
C spending
D investments
(correct answer A)

Why do people sometimes choose to save money instead of spend it?

A there are no goods available in stores to purchase
B they have used all the money on their credit cards and are not allowed to spend
C there are laws that prevent how much income a person is allowed to spend in a year
D they want to purchase something in the future that costs more than they currently have
(correct answer D)

There are two identical pairs of shoes for sale at the mall.  Store 1 has the shoes for $59.99.  Store 2 has the same shoes for $79.99 and allows you to get a second pair of shoes free.  Assuming you only need one pair of shoes, which is the BEST choice to make with your money?

A Buy the shoes at store 2 because free stuff is always good.
B Since the shoes are the same, the choice does not matter.
C Buy the shoes at store 1 and put the extra $20 in savings.
D Use a credit card to buy the shoes and put all your cash in savings.
(correct answer C)
SS6H1 The student will describe the impact of European contact on Latin America. 
a. Describe the encounter and consequences of the conflict between the Spanish and the Aztecs and Incas and the roles of Cortes, Montezuma, Pizarro, and Atahualpa. 

Which describes a long-term impact of European contact with Latin America?

A Latin American empires began to send expeditions to Europe.

B European countries gained land and empires in Latin America were destroyed.

C Long-term alliances were formed by the Latin American empires and European countries.   

D European countries realized Latin America had very few resources and sent fewer expeditions.

(Correct answer C)
 How were Hernan Cortes and Francisco Pizarro ALIKE?

A Neither was responsible for the decline of the Incas.
B Neither was involved in Latin American expeditions.

C Both were responsible for overthrows of European dictators.

D Both were instrumental in the decline of major Latin American empires.

(Correct answer D)
Which was a consequence of the conflict between Pizarro and Atahualpa?

A Atahualpa's defeat allowed Spain to expand in to South America.
B Pizarro had to join forces with Cortes in order to defeat Atahualpa.

C Pizarro eventually gained respect for the Incas and supported them.

D Atahualpa's victory allowed the Incas to expand into Spain and Portugal.

(Correct answer A)
SS6H1 The student will describe the impact of European contact on Latin America. 
b. Explain the impact of the Columbian Exchange on Latin America and Europe in terms of the decline of the indigenous population, agricultural change, and the introduction of the horse. 

Use the following list to answer question #____:

	*Great spread of disease

*Introduction of new agricultural items

*Introduction of the horse


ALL of the items in the list MOST DIRECTLY describe effects of the Columbian Exchange on

A Europe.
B Canada. 

C Australia.
D Latin America.
(Correct answer D)

Which statement describes one way Europe benefitted from the Columbian Exchange?

A People in Europe had a larger variety crops. 
B Europeans had fewer diseases because of the exchange. 
C The horse was introduced in Europe for better transportation.

D Citizens had more power because there were fewer kings and rulers.

(Correct answer A)

SS6H2 The student will explain the development of Latin America and the Caribbean from European colonies to independent nations. 
a. Describe the influence of African slavery on the development of the Americas.  
Which group had the LARGEST direct impact on the culture and economy of colonial Latin America?

A African slaves

B Canadian slaves

C Australian tribes
D European women
(Correct answer A) 
How did African slaves affect the development of the Americas?

A they took over and ruled the new territories

B they were responsible for discovering new lands

C they replaced the local languages with African languages 

D they combined parts of African culture with existing culture

(correct answer D)
SS6H2 The student will explain the development of Latin America and the Caribbean from European colonies to independent nations. 
b. Describe the influence of the Spanish and the Portuguese on the language and religions of Latin America. 

 If someone wanted to visit several Latin American countries, which two languages would be BEST for them to study to prepare?

A German and Italian    
B French and English
C Canadian and Olmec

D Spanish and Portuguese

(Correct answer D)
Prior to Spanish and Portuguese influence in Latin America, indigenous languages and religions were dominant in the culture.  How did language and religion change after interaction with the Spanish and Portuguese?

A The indigenous languages were supported by the European governments.
B Indigenous religions remained dominant, but indigenous language disappeared.

C Spanish and Portuguese languages and religions became dominant in the region.
D The Spanish and Portuguese took the indigenous languages back to Spain and Portugal.
(Correct answer C)
 Which religion spread through Latin America as a result of Spanish and Portuguese interaction?
A Islam

B Incan

C Judaism

D Christianity

(Correct answer D)
SS6H2 The student will explain the development of Latin America and the Caribbean from European colonies to independent nations. 
c. Explain the Latin American independence movement; include the importance of Toussaint L’Ouverture, Simon Bolivar, and Miguel Hidalgo. 

Which describes why Toussaint L’Ouverture is important in Latin American history?

A He was instrumental in the independence of Bolivia.

B He led the first major overthrow of a European power in Latin America.

C He was responsible for returning indigenous culture to the most of the region.

D He made Haiti the largest economy in Latin America.

(Correct answer B)
Use the following list to answer question #___:

	*Former Slave

*Leader in Haitian Revolution

*Freed slaves in Santo Domingo


The list above MOST LIKELY describes which leader?

A Toussaint L’Ouverture

B Simon Bolivar

C Isaac Newton

D Fidel Castro

(Correct answer A)
Which describes the significance of Simon Bolivar?

A He worked to form dictatorships in Latin American countries.

B He fought for Spain and Portugal against Latin American rebels.

C He fought for Latin American independence in several countries.

D He eventually overthrew Toussaint L’Ouverture in Haiti and Brazil.

(Correct answer C)
When comparing Toussaint L’Ouverture and Simon Bolivar, which describes their impact in Latin America?

A Neither made significant impact on the Latin American mainland.

B Both were important to the Latin American Independence movement.

C Neither made a significant impact on relations with Europe or independence.

D Both were responsible for the decline of the Incan, Olmec, and Aztec empires.

(Correct answer B)
Manuel Hidalgo is associated with which major historical event?

A The Haitian Revolution
B Mexican War of Independence
C The collapse of the Mayan Empire
D Creation of the Columbian Exchange
(correct answer B)

SS6H3 The student will analyze important 20th century issues in Latin America and the Caribbean. 
a. Explain the impact of the Cuban Revolution. 

Which describes a long term impact of the Cuban Revolution?

A The Revolution expanded into Europe.

B Citizens in Cuba had more freedoms and rights.

C It led to increased conflict with the United States.

D More countries in the region formed similar types of governments.

(Correct answer C)
How did the Cuban Revolution impact Cuba's economy?

A Trade with the United States greatly expanded.

B The citizens had more freedom and ability to make decisions.

C Cuba no longer relied on agriculture as a piece of the economy.
D The new government took control of most of the countries resources.

(Correct answer D)

SS6H3 The student will analyze important 20th century issues in Latin America and the Caribbean. 
b. Explain the impact and political outcomes of the Zapatista guerrilla movement in Mexico. 

Which Mexican group is known for using modern technology and guerilla tactics to promote their opposition to the current government?

A Zapatistas

B FARC

C Aztecs

D Aborigines

(Correct answer A)
One outcome of the techniques used by the Zapatistas in Mexico has been

A decreased recognition around the world.

B decreased support from Mexican citizens.

C increased support from the Mexican government.

D increased support of the Zapatistas in poor areas of Mexico.

(Correct answer D)
SS6H4 The student will describe the impact of European contact on Canada. 
a. Describe the influence of the French and the English on the language and religion of Canada. 

Which two countries fought over control of Canada in the 17th and 18th centuries?

A England and France

B Germany and France
C England and Spain

D England and the United States

(Correct answer A)

France agreed to let go of most of their North American territory in 1763.  How did this affect what is now known as Canada?

A Canada became an independent country.

B The United States took control of Canada.

C Canada was turned over to British control.

D Spain controlled the west and England the east.

(Correct answer C)
Due to Canada’s history, which two languages are MOST prominent in the country?

A English and French
B Canadian and English
C German and Australian
D Spanish and Portuguese
(correct answer A)

Canada’s religious beliefs are similar to those found in which other countries?

A Spain and Portugal
B France and England
C United States and Iran
D Quebec and Newfoundland
(correct answer B)
SS6H4 The student will describe the impact of European contact on Canada. 
b. Explain how Canada became an independent nation. 

Which describes how Canada gained independence?

A A long complex war with Britain.

B A peaceful process taking place over many decades.

C They were independent after the French Revolution.

D A sudden, violent revolution similar to some Latin American countries.

(Correct answer B)

Which country gained independence as a result of a long, peaceful process rather than a violent revolution?

A Haiti

B Cuba

C Canada

D Mexico

(Correct answer C)
SS6H5 The student will analyze important contemporary issues in Canada. 
a. Describe Quebec’s independence movement. 

Why do certain groups in Quebec seek independence from Canada?
A They wish to become part of the United States.

B They wish to become an official colony of France.

C They belong to a larger group that thinks all provinces in Canada should be independent.

D They believe Quebec is culturally, politically, and economically different than the rest of Canada.

(Correct answer D)
Which Canadian Province is known for seeking independence from Canada?

A Quebec

B Ontario

C Saskatchewan

D Newfoundland

(Correct answer A)

Historically, France and Britain had many battles and conflicts over various territories in Canada.  Which is a present-day result of these conflicts?

A French Resistance in Haiti
B Quebec’s independence movement
C Efforts to exclude Britain from NAFTA
D Attempts to make Canada part of the EU
(correct answer B)
SS6G8 The student will locate selected features of Europe. 
a. Locate on a world and regional political- physical map: the Danube River, Rhine River, English Channel, Mediterranean Sea, European Plain, the Alps, Pyrenees, Ural Mountains, Iberian Peninsula, and Scandinavian Peninsula. 

Use the following map of Europe to answer question #___:


[image: image21.emf]
The star on the map above represents which area of Europe?

A Iberian Peninsula
B Ural Mountains
C the Alps
D Scandinavian Peninsula
(correct answer D)

Use the following map of Europe to answer question #___:

[image: image22.emf]
The star on the map above represents which area of Europe?

A Iberian Peninsula
B Ural Mountains
C the Alps
D Scandinavian Peninsula
(correct answer A)

Use the following map of Europe to answer question #___:


[image: image23.emf]
The arrow on this map is pointing to which mountain range?

A Alps

B Pyrenese

C Ural

D Danube

(correct answer A)

Use the following map of Europe to answer question #___:


[image: image24.emf]NORTH
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The darkened line near the center of the map shows the location of which river?

A Danube

B Rhine

C English

D German

(correct answer B)

SS6G8 The student will locate selected features of Europe. 
b. Locate on a world and regional political-physical map the countries of Belgium, France, Germany, Italy, Poland, Russia, Spain, Ukraine, and United Kingdom. 

Use the following map to answer question #_____:

[image: image25.png]



Which of the letters labels the country of France?

A A

B B 

C C

D D

(correct answer B)

Use the following map of Europe to answer question #____:


[image: image26.emf]X


The letter X on the map above identifies which country?

A Spain

B England

C Ukraine

D France

(correct answer A)

Use the following map of Europe to answer question #_____:


[image: image27.emf]X


The letter X on the map above identifies which country?

A Spain

B England

C Germany

D France

(correct answer B)

Use the following map of Europe to answer question #_____


[image: image28.emf]X


The letter X on the map above identifies which country?

A Spain

B England

C Belgium

D Germany

(correct answer D)

SS6G9 The student will discuss environmental issues in Europe. 
a. Explain the major concerns of Europeans regarding the issues such as acid rain in Germany, air pollution in the United Kingdom, and the nuclear disaster in Chernobyl, Ukraine. 

Over the last century, the United Kingdom has expanded rapidly in terms of industry, manufacturing, and automobile usage.  This growth has had which unintended result?
A A greater reliance on nuclear energy.

B The UK is less important to the world economy.

C An increase in air pollution.

D Lower literacy rates across the region.

(correct answer C)

Germany’s sulfur deposits, increased industrialization, and east-blowing winds all contribute to which environmental problem?
A nuclear disasters

B melting glaciers

C flash floods

D acid rain

(correct answer D)
In the Ukraine, many birth defects, soil contamination, and high rates of cancer are attributed to what event?

A nuclear power plant meltdown
B dropping of the atomic bomb
C massive amounts of acid rain
D heavy deforestation in the area
(correct answer A)
SS6G10 The student will explain the impact of location, climate, natural resources, and population distribution on Europe. 
a. Compare how the location, climate, and natural resources of the United Kingdom and Russia affect where people live and how they trade. 

Use the following climate map of Russia to answer question #_____:

[image: image29.jpg]Mean Annual Temperature in Russia

Ternp. [in degree Celsius]
-5
15





How does Russia’s climate affect its ability to trade?
A The mild temperatures make Russia one of the top agriculture producers in the world.

B Since most of Russia is covered in ice, there is almost no trade that takes place.

C Very little trade takes place in southern and western Russia because of the extremely low temperatures.

D There are fewer goods to produce and trade in north and north eastern Russia because of the harsh climate.

(correct answer D)
Compared to Russia, the United Kingdom (UK) is more reliant on waterways for trade because

A their climate prevents land travel.

B the UK is made up of a series of islands.

C Russia has no access to waterways.
D there is no other way to reach the UK.

(correct answer B)

SS6G10 The student will explain the impact of location, climate, natural resources, and population distribution on Europe. 
b. Compare how the location, climate, and natural resources of Germany and Italy affect where people live and how they trade. 

Use the following map of Italy to answer question #___:


[image: image30.emf]
Which statement is MOST LIKELY true regarding the darker shaded areas on the map?

A They are the newest cities in Italy.

B All of the darker shaded areas rely on access to the sea for employment.

C There are more resources and more economic opportunities in these areas.

D Only a few jobs exist in these areas and there is probably high unemployment.
(correct answer C)

SS6G11 The student will describe the cultural characteristics of Europe. 
a. Explain the diversity of European languages as seen in a comparison of German, English, Russian, French, and Italian. 

Why is it important to compare languages when studying Europe?
A There is great diversity in European languages that helps explain some cultural differences.

B It is useful to find out why all European countries speak the same language.

C The European Union is demands a common language and it is important to know which one is most popular.

D Comparing languages helps explain the economic differences in the countries of Europe.

(correct answer A) 

Which is true about Germany, England, Russia, France, and Italy?

A they are all members of the EU
B each country has their own language
C none of these countries use trade barriers
D all fought for the same side during World War II
(correct answer B)
SS6G11 The student will describe the cultural characteristics of Europe. 
b. Describe the major religions in Europe; include Judaism, Christianity, and Islam. 

Despite having many differences, the major religions in Europe are similar in the fact that they all

A use the same holy book.

B are monotheistic and believe in one god.

C identify Mary as the leader of their religion.

D observe the same religious holidays during the year.

(correct answer B)

Which religion is MOST popular in Europe?

A Islam
B Judaism
C Buddhism
D Christianity
(correct answer D)
SS6G11 The student will describe the cultural characteristics of Europe. 
c. Explain how the literacy rate affects the standard of living in Europe. 

Use the following table to answer question #____:

	Country
	Literacy Rate
	GDP (2008)
	GDP per person

	United Kingdom
	99%
	$2.3trillion
	$37,400

	Germany
	99%
	$2.9trillion
	$34,800

	Russia
	99%
	$2.2trillion
	$15,800

	Venezuela
	93%
	$368billion
	$14,000

	Mexico
	91%
	$1.6trillion
	$14,400

	Brazil
	89%
	$2trillion
	$10,300


What conclusion can be supported by the data in the table?
A The standard of living is higher in European countries than in Latin America.

B Countries that have higher literacy rates always have higher GDP.

C GDP per person has no clear connection to literacy rates.

D Citizens in Venezuela have the lowest standard of living.

(correct answer A)

Use the following headline to answer question #___:
	“Europe’s literacy rate among highest in the world!”


If this headline is true, which other statement is MOST LIKELY true?

A Europe has no economic problems
B Europe has a higher standard of living
C European citizens do need as much education
D European countries do not trade with other countries
(correct answer B)
SS6CG4 The student will compare and contrast various forms of government. 
a. Describe the ways government systems distribute power: unitary, confederation, and federal. 

In which form of government does the central government hold the most power?

A   Confederation

B   Federal
C   Democracy
D   Unitary

(Correct answer D)

The government in country X has multiple levels and each level is in charge of certain responsibilities.  Power is spread out somewhat evenly through the levels.  Based on this information, the government in country X is MOST LIKELY

A Confederal

B Unitary

C Federal

D Anti-Federal

(correct answer C)

Which describes a government that distributes power under a unitary system?

A There is a central authority that makes all major decisions.

B Two or more countries form an alliance to make decisions.

C The citizens of the country elect leaders at multiple levels that make decisions.

D A group of separate countries or regions agree to join together for specific purposes.

 (correct answer A)

Which describes a government that distributes power under a confederation?

A There is a central authority that makes all major decisions.

B Two or more countries form an alliance to make decisions.

C The citizens of the country elect leaders at multiple levels that make decisions.

D A group of separate countries or regions agree to join together for specific governing purposes.

(correct answer D)

SS6CG4 The student will compare and contrast various forms of government. 
b. Explain how governments determine citizen participation: autocratic, oligarchic, and democratic. 

Which correctly compares an autocratic to a democratic government?

A Citizens can participate more in democratic governments.

B The government has less power in autocratic governments.

C Citizens can participate more in autocratic governments.

D Autocratic and democratic governments are the same.

(correct answer A)

In which form of government is power controlled by a select few individuals, rather than the citizens?

A   Autocracy
B   Oligarchy
C   Monarchy

D   Democracy

(Correct answer B)
SS6CG4 The student will compare and contrast various forms of government. 
c. Describe the two predominant forms of democratic governments: parliamentary and presidential. 

A country that wanted to encourage more political involvement of its people by having them elect the chief executive should choose which type of government?

A parliamentary
B presidential
C totalitarian
D autocratic
(correct answer B)
The primary difference between presidential and parliamentary governmental systems is that in a parliamentary system the chief executive is chosen by the

A courts

B president

C people

D legislature

(correct answer D)

SS6CG5 The student will explain the structure of modern European governments. 
a. Compare the parliamentary system of the United Kingdom of Great Britain and Northern Ireland (United Kingdom), the federal system of the Federal Republic of Germany (Germany), and the federation of the Russian Federation (Russia), distinguishing the form of leadership and the role of the citizen in terms of voting and personal freedoms. 

When comparing Germany’s government to the government of the United Kingdom, it is correct to say that

A both the UK and Germany rely on a Prime Minister as their head of state.

B the Queen controls elections in the UK while citizens control elections in Germany.

C citizens in the UK elect their Prime Minsiter while the legislature in Germany elects the President.

D parliament elects the prime minister in the United Kingdom while the President is elected by federal convention in Germany.

 (correct answer D)

Which is the best indication that the Russian government operates as a federal system?  

A the central government and local governments both have power

B the people vote on all of their leaders

C Russia shares a border with multiple countries

D Russia requires the use of exchange rates to trade goods with others

(correct answer A)

In Great Britain, power is divided between the central government and local governments.  A legislature is elected by the people and this legislature then chooses a prime minister.  Based SOLELY on this information, which two words best describe Great Britain’s government?

A unitary and presidential
B federal and parliamentary
C autocratic and presidential
D confederal and parliamentary
 (correct answer B)
SS6CG5 The student will explain the structure of modern European governments. 
b. Describe the purpose of the European Union and the relationship between member nations. 

How does the European Union attempt to strengthen the economies of its member nations?
A reducing trade with countries outside of the EU

B increasing tax rates and EU dues so more services can be provided

C reducing trade barriers and using a common currency among members

D increasing the amount of time it takes for a country to join and participate in the EU

(correct answer C)
The following statement can be found on the European Union’s website:

	“The EU was created in the aftermath of the second world war. The first steps were to foster economic cooperation: countries that trade with one another are economically interdependent and will thus avoid conflict”


This passage is describing which aspect of the European Union?
A how to become a member
B the original purpose of the EU
C the relationship with the USA
D how the EU reduces trade barriers
(correct answer B)
SS6E5 The student will analyze different economic systems. 
a. Compare how traditional, command, and market, economies answer the economic questions of 1 -what to produce, 2-how to produce, and 3-for whom to produce. 

Under which economic system does the government make almost all of the economic decisions such as what, how, and for whom to produce?

A Command

B Market

C Traditional

D Capitalist

(correct answer A)

What are the 3 basic economic questions that all economic systems must answer?

A What to produce, how to produce it, and for whom to produce the goods

B When to produce, why to produce, and how long to produce

C to what extent to produce, how much to produce, why to produce

D what to produce, why to produce, and how much to produce

(correct answer A)

SS6E5 The student will analyze different economic systems. 
b. Explain how most countries have a mixed economy located on a continuum between pure and market and pure command. 

Use the following graphic to answer question #_____:
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Which location identifies where MOST of the world economies would be placed on this graphic?

A At point A

B At point B

C Between points A and B

D Between points C and D

(correct answer C)

Which describes how MOST countries around the world answer basic economic questions?

A A mixture of command and market economies.

B Most countries are pure market economies.

C Most countries are pure command economies.

D A mixture of traditional and market economies.

(correct answer A)

SS6E5 The student will analyze different economic systems. 
c. Compare the basic types of economic systems found in the United Kingdom, Germany, and Russia. 

Use the following data to answer question #_____:

	Rank of Countries by Degree of Economic Freedom

	Country
	Rank

	Hong Kong
	1st

	Australia
	3rd

	United States
	6th

	United Kingdom
	10th

	Chile
	11th

	Germany
	25th

	Mexico
	49th

	Russia
	146th

	Index of Economic Freedom (2009) 

The Heritage Foundation and The Wall Street Journal


Which statement would be supported by the data above?

A Russia is the most free economy on the list.
B Germany has more government involvement in their economy than Russia.

C The United Kingdom, Germany, and Russia have significantly different economic systems.

D There is very little government involvement in the economy of the United Kingdom.

(correct answer C)

In Russia, consumers have relatively few choices and the government still heavily regulates many industries and limits business freedoms, although these regulations are slowly going away.  How can this economic system be described?

A a market economy moving toward a mixed system
B a mixed economy moving toward a market system
C a mixed economy moving toward a command system
D a command economy moving toward a traditional system
(correct answer B) 
SS6E6 The student will analyze the benefits of and barriers to voluntary trade in Europe. 
a. Compare and contrast different types of trade barriers such as tariffs, quotas, and embargos. 

Why would one country place an embargo another?

A Distance

B Political differences 

C Lack of transportation

D Lack of natural resources

 (correct answer B)

Which describes the effects of a tariff?

A prices of imported goods rise
B imported goods become illegal
C exported goods turn into imported goods
D there is no longer a need to exchange currency
(correct answer A)

Use the following chart to answer question #___:

German Imports of British Cars

	2006
	259,000

	2007
	298,000

	2008
	345,000

	2009
	200,000

	2010
	200,000


From 2006 to 2008, the number of British cars imported by Germany increased rapidly.  What is a possible economic explanation for the sudden drop beginning in 2009?

A an embargo banned all imports
B a quota limited the number of imports
C Germany began exporting British cars
D the import tariff was removed by Germany
(correct answer B)

Use the following information to answer question #__:

                             Cheese prices in Russia
	Russian Cheese
	Imported French Cheese

	4Euros
	2Euros


If Russian cheese makers are concerned with the lower price of the French cheese, what economic action should they ask the government to take?

A impose a tariff of at least 2 Euros
B remove a tariff on the cheese
C lower the quality of the French cheese
D place and embargo on the Russian cheese
(correct answer A)
SS6E6 The student will analyze the benefits of and barriers to voluntary trade in Europe. 
b. Explain why international trade requires a system for exchanging currencies between nations. 

Many countries in Europe have not adopted (or are not yet allowed) to adopt the Euro as their form of currency.  When these countries wish to trade with countries that do use the Euro, how is the value of the goods they wish to trade determined?
A by a system of exchange rates that allow them to swap currencies

B by an old-fashioned barter system

C they are not allowed to trade with countries that use the Euro

D everything is ultimately priced in US dollars that everyone uses

(correct answer A)

Assume you own a bakery in the United States that ships goods worldwide.  You get an order for 100 cakes to be sent to Germany.  You price your cakes in dollars, but Germany uses the euro as their currency.  How will this fact affect your transaction? 

A You will have to recalculate all of your prices and put them in terms of Euros before you can trade.
B The German company can only make this transaction in dollars, their euros are not useful for this purchase.
C The transaction can still happen because there is a system in place to exchange currencies between countries.
D Because of the different currencies, this transaction will not work unless the Germans come to the United States.
(correct answer C)
SS6E7 The student will describe factors that influence economic growth and examine their presence or absence in Europe. 
a. Explain the relationship between investment in human capital (education and training) and gross domestic product (GDP). 

Which decision is MOST LIKELY to cause long term economic growth?

A France spends more money on agriculture rather than new products.

B Germany invests in several new education and training programs for employees.

C Russia decides to cut back and not spend money on new machines or technology

D England raises their retirement age, making employees work more years.

(correct answer B)
Why do European countries, like Germany, generally invest heavily in their education and training programs?

A most countries have no other resources worth improving
B these investments improve human capital, which leads to economic growth
C investing in education and training means the country can have lower taxes
D the workers in these countries have lower literacy rates than most of the world
(correct answer B)

SS6E7 The student will describe factors that influence economic growth and examine their presence or absence in Europe. 
b. Explain the relationship between investment in capital (factories, machinery, and technology) and gross domestic product (GDP). 

Between 2001 and 2005 Germany decreased their investment in capital resources like factories and machinery.  How would this decision MOST LIKELY affect their gross domestic product (GDP)?
A It would increase because now Germany would have more money to spend in other areas.
B There is no strong relationship between capital resources and GDP.

C The GDP in Germany would likely have decreased during this time because there is a direct relationship between GDP and investment in capital.
D Gross domestic product would have decreased because there would be fewer natural resources to use.

(correct answer C)

SS6E7 The student will describe factors that influence economic growth and examine their presence or absence in Europe. 
c. Describe the role of natural resources in a country’s economy. 

Great Britain has few natural resources compared to some countries.  How does this affect their economy?

A They do not need natural resources to make goods in Great Britain.
B They must use all of their time trying to make natural resources.

C They do not produce any goods in Great Britain, they only import goods.

D They rely more heavily on manufacturing and industry for money.

(correct answer D)
Russia has vast amounts of land, timber, oil, and mineral deposits.  Economically speaking, Russia has many ______ resources.  Which word should go in the blank?

A capital
B natural

C human

D practical
(correct answer B)
SS6E7 The student will describe factors that influence economic growth and examine their presence or absence in Europe. 
d. Describe the role of entrepreneurship. 

European countries tend to have many talented entrepreneurs, meaning that they have

A workers who will work for little to no wages.

B companies that wish to relocate outside of Europe.

C politicians that are very smart with spending the tax money for the country.

D people willing to combine resources and take risks to develop new products.

(correct answer D)
SS6H6 The student will analyze the impact of European exploration and colonization on various world regions. 
a. Identify the causes of European exploration and colonization; include religion, natural resources, a market for goods, and the contributions of Prince Henry the Navigator. 

On which sea route did Prince Henry the Navigator have the greatest influence?

A A way to travel around the world

B A shorter route to the new world

C A route around South America

D A route around the tip of Africa

(correct answer D)

Use the following list to answer question #___:

	· religious expansion

· new sources of natural resources

· new markets to sell goods


The list above identifies the reasons for which historical event?

A The Chernobyl accident
B World War I and World War II
C Australia’s fight for Independence
D European exploration and colonization
(correct answer D)

Historically, as European countries grew, they explored and colonized other areas of the world.  Why was this exploration and colonization important to Europe?

A Europe suffers from continuous natural disasters
B new markets for goods developed and religion spread
C no other part of the world was willing to travel to Europe
D Europe had to keep up with Canada and Mexico’s explorations
(correct answer B)
SS6H6 The student will analyze the impact of European exploration and colonization on various world regions. 
b. Trace the empires of Portugal, Spain, England, and France in Asia, Africa, and the Americas. 

Which country had the most influence across Asia, Africa, and the Americas during most of the 1600’s and 1700’s?

A England, because they had the most colonies
B Spain, because they were the biggest country
C France, because they had control of North Africa
D Portugal, because their explorers were the fastest
(correct answer A)

Why is Brazil’s development unique, when compared to most other Latin American countries?
A Spain sent most of their mission trips to Brazil.

B It developed as part of the Portuguese empire rather than the Spanish.

C Brazil was the only colony to participate in the slave trade with Europe.

D Access to the Amazon River made Brazil the richest of all European colonies.

(correct answer B)

Use the following map of European colonization in Africa to answer question #___:
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Based on this map, a person studying African culture for the first time should expect to find

A a uniform culture throughout the continent.
B heavy Latin American influences in the culture.
C signs of European culture, especially French and British.
D that African countries dominated European culture through colonization.
(correct answer C)
Use the following map of European colonization in Africa to answer question #___:
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Which conclusion is correct based on this map?
A European countries divided Africa equally and fairly.
B Africa had many resources European countries wanted.
C African countries dominated European culture through colonization.
D Italy, Portugal, and Germany were not interested in African colonies.
(correct answer B)

Use the following map of European Colonization of the Americas to answer question #___:



How does this map help explain culture in the Americas?

A The map shows colonization only, which does not relate to culture.
B The areas on the map that are not colonized most likely have no distinct culture or civilization.
C South America has more Spanish and Portuguese influences and North America has more British and French influences.
D The map shows that European countries had the same amount of cultural influence in both South America and North America.
(correct answer C)

SS6H6 The student will analyze the impact of European exploration and colonization on various world regions. 
c. Trace the colonization of Australia by the United Kingdom. 

Which country developed as a prisoner colony of the United Kingdom?

A Australia
B Portugal
C Canada
D Brazil
(correct answer A)

Use the following passage to answer question #___:

	“…London was full of thieves, forgers, and muggers. Crime was up in the smaller towns and the countryside too…Policing was largely in the hands of poorly paid watchmen who were often involved in crime themselves. England had a number of jails, but these were very expensive to build and maintain, and those that did exist were usually full…”


How did the situation in the passage above impact Australia?
A Laws were passed in Australia banning anyone from England from entering the country.

B Australian citizens were brought to England to teach people how to act properly.

C England began to use Australia as a colony where they could send their prisoners.

D Aboriginal groups in Australia began to mimic the behavior of the English citizens.

(correct answer C)
SS6H6 The student will analyze the impact of European exploration and colonization on various world regions. 
d. Explain the impact of European empire building in Africa and Asia on the outbreak of WWI. 

How did European colonization in Africa and Asia contribute to the outbreak of World War I?
A World War I was primarily fought in the European colonies in Africa and Asia.
B Colonization created competition and rivalries over the use of resources found in these places.

C The colonies in Africa were closer and easier to reach so the colonies in Asia attacked out of jealousy.
D European countries focused too much on their colonies so they were not prepared for attacks from Africa and Asia.
(correct answer B)

Use the following map to answer question #___:
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What reason for World War I does the map indicate?

A The growth of militaries across Europe.
B Access to fresh water around the world.
C European conflicts over land and resources.
D Religious differences between European countries.
(correct answer C)

Which major conflict arose out of the colonization and empire-building of Europe in the 17th-20th centuries?

A World War I
B The Cold War
C The Holocaust
D Russian Revolution
(correct answer A)

SS6H7 The student will explain conflict and change in Europe to the 21st century. 
a. Describe major developments following World War I: the Russian Revolution, the Treaty of Versailles, worldwide depression, and the rise of Nazism. 

Why was the time period following World War I an unstable and uncertain time in the world?
A There were major revolutions in countries like Russia, uncertainty in Europe because of the Treaty of Versailles, and a developing global depression.

B Countries in Asia and Africa were growing too quickly while countries in Europe and North America were shrinking in their involvement in the global economy.

C Colonization in Africa and Asia was crumbling, the United States was too involved with other countries, and Australia was being used as a colony for English prisoners.

D People knew a second world war was inevitable, there were too many countries developing massive arsenals of nuclear weapons, and all countries in the world were changing leaders.
(Correct answer A)
	“World Economies Slow Due To Worldwide Depression!”


During which time period would a person MOSTLY see the headline above?

A Between World War I and World War II
B When the Incan and Mayan empires fell
C After the collapse of the Soviet Union
D After World War II when the superpowers collided
(correct answer A)

Which group rose to power in Germany between World War I and World War II?

A Jews
B Nazis

C Russians

D Explorers

(correct answer B)
SS6H7 The student will explain conflict and change in Europe to the 21st century. 
b. Explain the impact of WWII in terms of the Holocaust, the origins of the Cold War, and the rise of Superpowers. 

Why was World War II a starting ground for the Cold War?

A At the end of WWII, there were two super powers struggling for world power 

B There was no peace treaty that clearly ended the war

C Declines in technology made developing new weapons difficult.

D Because of the treaties, it was difficult to fight anything but a war of words.

(correct answer A)

Which major historic event is associated directly with World War II?

A the Russian Revolution
B the fall of the Berlin Wall
C the collapse of the Ottoman Empire
D the Holocaust
(correct answer D)
SS6H7 The student will explain conflict and change in Europe to the 21st century. 
c. Explain how the collapse of the Soviet Union led to the end of the Cold War and German reunification. 

How was Germany affected by the collapse of the Soviet Union?

A Germany was able to finally split into West and East Germany.

B Germany’s currency was no longer accepted by the world.

C Berlin was no longer allowed to be the capital of the country.

D West and East Germany could now reunite as one country.
(correct answer D)

The collapse of the Soviet Union signaled the end of which historical era?

A World War I
B The Cold War
C World War II
D The Cuban Revolution
(correct answer B)
SS6G12 The student will be able to locate selected features of Australia. 
a. Locate on a world and regional political-physical map: the Great Barrier Reef, Coral Sea, Ayers Rock, and Great Victoria Desert. 

Use the following map of Australia to answer question #___:
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Which letter represents the Great Barrier Reef?
A A

B B

C C

D D

(correct answer A)

Use the following map of Australia to answer question #___:
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Which letter indicates the location of Ayers Rock?
A A

B B

C C

D D

 (correct answer C)

SS6G13 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Australia. 
a. Describe how Australia’s location, climate, and natural resources have affected where people live. 

Why is the interior of Australia virtually empty of people?

A Australians prefer living near the ocean.
B Food is difficult to come by due to the lack of fish.
C It is desert terrain with few resources to sustain human life.
D Australian’s population is mostly tourists and they are attracted to the water.
(correct answer C)

How are the northernmost parts of Canada and the desert environments of Australia similar?

A Neither area has a large human population.

B Both produce the most resources for the countries.

C The location of each country’s capital is found in these areas.

D Other countries have colonies in these locations that prevent development.

(correct answer A)

SS6G13 The student will explain the impact of location, climate, distribution of natural resources, and population distribution on Australia. 
b. Describe how Australia’s location, climate, and natural resources impact trade. 

Why are China and Australia increasingly important trading partners?
A Beginning soon, Australia will no longer be able to trade with Europe.

B They both have large economies and are located close to each other.
C Australia only exports goods to China.

D Neither has close ties to Europe.
(correct answer B)
Use the following map to answer question #___:
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Which factor is MOST affected by Australia’s closeness to China?
A trade
B education
C climate
D government
(correct answer A)

Which natural resource is extremely important to Australia’s economy?
A trees
B water
C rainforest
D snowdrift
(correct answer B)
SS6G14 The student will describe the cultural characteristics of people who live in Australia. 
a. Explain the impact of English colonization on the language and religion of Australia. 

Over 79% of Australians speak English and the largest religious groups are Catholic, Anglican, and other variations of Christianity.  Which explains why this is true?

A Only English citizens have ever lived in Australia.

B Aboriginal groups have always spoken English and practiced Christianity.

C English colonization had a large impact on the language and religion of Australia.
D Australia will only allow people to live in the country if they are Christians and speak English.

(correct answer C)

The language and religion of Australia is largely influenced by which other country?

A England
B Germany
C Argentina
D United States
(correct answer A)
SS6G14 The student will describe the cultural characteristics of people who live in Australia. 
b. Evaluate how the literacy rate affects the standard of living. 

Use the following passage to answer question #___:

	“MANY Aboriginal people in remote areas will enter adult life with the reading skills of a 10-year-old, having failed to achieve national literacy standards in primary school.
The finding comes from the author of a paper, published today by the Centre for Independent Studies, which reveals Aboriginal children from remote communities have literacy rates far lower than those living in urban centres.”
-  The Australian, August 2006


Which is a likely consequence of the facts contained in the passage above?

A Aboriginal people will have a lower standard of living.

B Aboriginal people in remote areas will move to urban areas.

C Businesses will only be able to hire people with low literacy rates.

D The Australian Government will only keep track of literacy rates in urban areas.

(correct answer A)

SS6CG6 The student will compare and contrast various forms of government. 
a. Describe the ways government systems distribute power: unitary, confederation, and federal. 

In which form of government does the central government hold the most power?

A   Confederation

B   Federal
C   Democracy
D   Unitary

(Correct answer D)

The government in country X has multiple levels and each level is in charge of certain responsibilities.  Power is spread out somewhat evenly through the levels.  Based on this information, the government in country X is MOST LIKELY

A Confederal

B Unitary

C Federal

D Anti-Federal

(correct answer C)

Which describes a government that distributes power under a unitary system?

A There is a central authority that makes all major decisions.

B The citizens of the country elect leaders at multiple levels that make decisions.

C A group of separate countries or regions agree to join together for specific purposes.

D Two or more countries form an alliance to make decisions.

(correct answer A)

SS6CG6 The student will compare and contrast various forms of government. 
b. Explain how governments determine citizen participation: autocratic, oligarchic, and democratic. 

Which compares an autocratic to a democratic government?

A Citizens can participate more in democratic governments.

B The government has less power in autocratic governments.

C Citizens can participate more in autocratic governments.

D Autocratic and democratic governments are the same.

(correct answer A)

In which form of government is power controlled by a select few individuals, rather than the citizens?

A   Autocracy
B   Oligarchy
C   Monarchy

D   Democracy

(Correct answer B)
SS6CG6 The student will compare and contrast various forms of government. 
c. Describe the two predominate forms of democratic governments: parliamentary and presidential. 

The primary difference between presidential and parliamentary governmental systems is that in a parliamentary system the chief executive is chosen by the

A courts.

B president.

C people.

D legislature.

(correct answer D)

SS6CG7 The student will explain the structure of the national government of Australia. 
a. Describe the federal parliamentary democracy of Australia, distinguishing form of leadership, type of legislature, and the role of the citizen in terms of voting and personal freedoms. 

In what way is Australia’s form of leadership in their government similar to that of England’s?

A A President is elected by the people.

B There is only one house in the legislature.

C A Prime Minister is elected from within the legislature.

D The Queen is the Chief Executive that makes most government decisions.

(correct answer C)

Because Australia has a parliamentary democracy, what is the role of the citizen in terms of elections?

A to elect members of parliament
B to elect the president of Australia
C to vote directly for the prime minister
D to select Australia’s members to the UN
(correct answer A)
SS6E8 The student will analyze different economic systems. 
a. Compare how traditional, command, and market, economies answer the economic questions of 1 -what to produce, 2-how to produce, and 3-for whom to produce. 

Under which economic system does the government make almost all of the economic decisions?

A Command

B Market

C Traditional

D Capitalist

(correct answer A)

What are the 3 basic economic questions that all economic systems must answer?

A When to produce, why to produce, and how long to produce

B what to produce, why to produce, and how much to produce

C to what extent to produce, how much to produce, why to produce

D What to produce, how to produce it, and for whom to produce the goods

(correct answer D)

SS6E8 The student will analyze different economic systems. 
b. Explain how most countries have a mixed economy located on a continuum between pure and market and pure command. 

Use the following graphic to answer question #_____:
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Which location identifies where MOST of the world economies would be placed on this graphic?

A At point A

B At point B

C Between points A and B

D Between points C and D

(correct answer C)

Which describes how MOST countries around the world answer basic economic questions?

A A mixture of command and market economies.

B Most countries are pure market economies.

C Most countries are pure command economies.

D A mixture of traditional and market economies.

(correct answer A)

SS6E8 The student will analyze different economic systems. 
c. Describe the economic system used in Australia. 

One result of Australia being colonized and developed by the English is that their economy is

A still run by English prisoners.
B solely based on English products.

C closer to free market than to command.

D supported only by trade with Great Britain.

(correct answer C)

SS6E9 The student will give examples of how voluntary trade benefits buyers and sellers in Australia. 
a. Explain how specialization makes trade possible between countries. 

Australia’s primary exports are coal, iron ore, gold and meat.  England’s primary exports are manufactured goods, fuels, and chemicals.  Based solely on this information, which statement would be true about the trading status of Australia and England?

A Since they specialize in different goods, they would not make good trading partners.

B Unless they used the same exact currency, they would not be able to trade.

C Because they specialize in different goods, they would make good trading partners.

D They will likely not trade because they are too far apart.

(correct answer C)

SS6E9 The student will give examples of how voluntary trade benefits buyers and sellers in Australia. 
b. Compare and contrast different types of trade barriers, such as tariffs, quotas and embargos. 

Why would one country place an embargo another?

A Political differences 

B Lack of natural resources

C Lack of transportation

D Distance

(correct answer A)

Embargos are different than tariffs and quotas mainly because they

A completely eliminate trade between countries.

B are used before any other trade barrier is tried.

C increase taxes on imports rather than exports.

D are only used by Asian countries.

(correct answer A) 
SS6E9 The student will give examples of how voluntary trade benefits buyers and sellers in Australia. 
c. Explain why international trade requires a system for exchanging currency between nations. 

Even though Australia, Canada, and the United States all dollars as their currency, the dollars are not valued the same.  Therefore, when these countries wish to engage in trade, what must be in place?
A an agreement to always use US dollars

B a system for exchanging and valuing currency

C a way to exchange goods without using money

D records of past transactions so that trade always remains the same

(correct answer B)
SS6E10 The student will describe factors that influence economic growth and examine their presence or absence in Australia. 
a. Explain the relationship between investment in human capital (education and training) and gross domestic product (GDP). 

A 2008 study showed that Australia was spending less money on education per student than many other developed nations.  Which argument could be used to encourage more spending on education?
A The only way to have a country grow is investing in education.

B Investing in education and training can lead to increased gross domestic product (GDP).

C Spending money on things other than education and training is wasteful and unnecessary.

D It is always best to be on the top of lists that compare countries in regards to how much money they spend.

(correct answer B)

SS6E10 The student will describe factors that influence economic growth and examine their presence or absence in Australia. 
b. Explain the relationship between investment in capital goods (factories, machinery, and technology) and gross domestic product (GDP). 

Why might Australia decide to invest more money in capital goods like factories, machinery, and technology?
A Australia currently has little modern technology or factories.

B It is no longer important to invest in education or training.

C The Australian economy relies mainly on exporting machines.

D This often leads to future increases in gross domestic product.

(correct answer D)

SS6E10 The student will describe factors that influence economic growth and examine their presence or absence in Australia. 
c. Describe the role of natural resources in a country’s economy. 

According to the CIA World Factbook, Australia’s top 5 exports are:

· coal

· iron ore

· gold

· meat

· wool

Based on this information, which statement is true regarding Australia’s economy?

A Australia has very few natural resources.

B Natural resources are a major part of Australia’s economy.

C Trading natural resources is not important for Australia’s economy.

D Machinery and Technology are the most important part of Australia’s economy.

(correct answer B)

SS6E10 The student will describe factors that influence economic growth and examine their presence or absence in Australia. 
d. Describe the role of entrepreneurship. 

Which describes entrepreneurship?

A The physical talents of people to build things.

B Putting together productive resources to produce a good or service.

C Machines, tools, and devices used for production.

D The ability to harvest and use natural resources

(correct answer B)

SS6H8 The student will describe the culture and development of Australia prior to contact with Europeans. 
a. Describe the origins and culture of the Aborigines. 

Why is finding information on the early Aborigines difficult?
A they had no written language
B there are no Aboriginal people left

C no Aboriginal people currently speak English

D studying Aboriginal culture is forbidden in Australia

(correct answer A)

SS6H9 The student will explain the impact European exploration and colonization had on Australia. 
a. Explain the reasons for British colonization of Australia; include the use of prisoners as colonists. 

Why were the British initially interested in colonizing Australia?

A They had practically conquered everywhere else in the world.

B There was a race against China to be the first to get to Australia.

C They wanted a place to put prisoners from their overcrowded jails.

D Australia was the only place the British could get natural resources.

(correct answer C)

Britain’s use of Australia in the 1770’s was MOST LIKE what type of location?
A prison
B oil field
C school
D coal mine
(correct answer A)
SS6H9 The student will explain the impact European exploration and colonization had on Australia. 
b. Explain the impact of European colonization of Australia in terms of diseases and weapons on the indigenous peoples of Australia. 

How did diseases brought by colonists affect the Aborigine people in Australia?

A The Aborigine people provided cures for many diseases

B Diseases such as small pox nearly wiped out the population 

C The Aborigines prevented the disease from spreading by staying in one place

D The colonists brought few diseases with them to Australia and it had little impact

(correct answer B)

Which item, brought by Europeans, had a negative effect on Aborigine people in Australia?

A water

B boats

C books

D disease

(correct answer D)
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